£Z5HE—k B+

Y N=UIVE S ST I RS
(£) FR303H31H

(B) ¥m29%F4H1H

=2

SREEIUIARSR)

(BT : M)
BENE LEERE(A) BIEERE(B) 1ER(A)-(B)

NERIRB RIS 0 0
#NEBRING 0 0

R E B BN 0 0
REBRING 0 0

| PR SIE NS 12,732, 636 12, 630, 306 102, 330

2| EEBAD - XS BRI 71,202, 708 72,977,185 -1, 774, 477

g| | B RE BN 0 0
|| [EEERRE 0 0
p| |[EREESHER 0 0 0
ZOMDINGE 0 357, 920 -357, 920

Al [y-exEspimamet (1) 83, 935, 344 85, 965, 411 —2, 030, 067
= I PNE=T 59, 715, 943 58, 676, 336 1,039, 607
B |Bzem 4,169, 630 4,513,433 -343, 803
1 |BHE 5,417, 554 5,902, 331 -484, 777
| |EiEmzE 11,512, 561 11, 656, 321 -143, 760
ol . [EES2EA 0 0 0
2 B\ AL ansmnaa 0 0 0
=\ |t e 4,697, 627 5,149, 021 -451, 394
ERE S SIS RIS B -2, 494, 657 -2,738, 845 244,188

BN EEEE 0 0 0
WUTEES | L RIRA 0 0 0
ZOMDEF 0 0 0
Y- EBER (2) 83,018, 658 83, 158, 597 ~139, 939
Y—CAEBIEREE (3) = (1) - (2) 916, 686 2,806,814 1,890, 128
EASF SSRGS 95,916 127, 890 —31,974

ZEFI SR RN 799 1,605 -806
EelliEie e it 0 0 0

ol Bl et 0 0 0

9| IR s s o AT 0 0 0
| | %\ Eamarsssma 0 0 0
e |ERpEREs 0 0
2| |EsrEEEm 0 0
| |2otot -2 EES RS 75, 970 3,178 72,792
gyl | P-EAEBIIREEE (4) 172,685 132,673 40,012
o[RS 358, 530 401, 160 ~42, 630
| [BMEESETEA 0 0 0
S L 0 0 0
| g | 1AL TAMIR 0 0 0
0| | IBE M E 0 0 0
#B| | EABAE A 0 0
TEE 0 0
ZOMOY—PRESIER 0 0 0
Y-CZEBSIERET (5) 358,530 401, 160 —42. 630
H_CARBINEREE (6) = (4) — (5) ~185, 845 268, 487 32, 642
BEEREE (1) = (3) + (6) 730, 841 2,538, 321 -1, 807, 486
MR RS MR INES 108, 000 108, 000 0

MR RSN 2,814, 664 2,019, 524 795, 140

| EIESESEA R TR MRS SN 0 0 0

| B AR 0 0 0

| |BEAESDE 0 0 0
I |zt BIINE 0 0 0
B [ERlmzsst (8) 2,922, 664 2,127,524 795, 140
B |=xemErE 0 0 0
| |@EsmE 0 0 0
o| |ExaEsing-nsiE 9,524 109, 410 -99, 886
ap| B | BB £ SASRIHEIEREE (BRE1%5) -258 0 -258
| BB & S S BI R T T ER 0 0 0
PrE==CS 0 0 0
ZOMBDISRIIELE 0 0 0
15BIZFEst (9) 9,266 109, 410 100, 144
RIEEELE (10) = (8) - (9) 2,913, 398 2,018,114 895, 284
LESEENERER (11) = (7) + (10) 3, 644, 239 4,556, 441 912, 202
- [BUAREHE SIS A (1 2) 47, 456, 956 42,900, 515 4,556, 441
= |HMEAKIRUTEBNERAEE (13) = (11) + (12) 51,101,195 47, 456, 956 3, 644, 239
w |[EASEEARE (14) 0 0 0
i |zt SHEEEE (15) 0 0 0
5 |EDMBDIETI SETEE (16) 0 0 0
* REBEEBIE AR (17) = (13) + (14) + (15) — (16) 51,101,195 47, 456, 956 3, 644,239




